ASSEMBLY INSTRUCTIONS

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts, which may have come loose inside the carton during shipment.
Identify and count all parts and compare with the hardware list below.

No. Description Qty
Part List Headboard 1 Pc
B Legs (L -R) 2 Pcs
C Stretcher 1 Pc
No. Picture Description Dimension Qty
1 Bolt M6 x 45 mm 10 Pes
2 0 Lock Washer @14/@7x 1.6 mm 10 Pcs
Hardware List 3 Flat Washer 018/06x 1 mm 10 Pes
4 - Allen Key 4x70 mm 1Pc
5 o Dowel @10 x 40 mm 4 Pcs

Page 1 of 1



ASSEMBLY INSTRUCTIONS

Thank you for purchasing this quality product. Be sure to check all packing material

carefully for small parts, which may have come loose inside the carton during shipment.

Identify and count all parts and compare with the hardware list below.

No. Description Qty
HEADBOARD
A Headboard 1 Pc
FOOTBOARD | B | Footboard |1k
STORAGE ‘ C ‘ Storage 3 drawers / storage 6 drawers ‘ 2 Pcs
D Leg storage 4 Pcs
PLATFORM E End platform 2 Pcs
F Center platform 2 Pcs
No. Picture Description Dimension Qty
1 Stud Bolt M8 x 80 mm 8 Pcs
2 Square Washer M8 8 Pcs
3 Hexagonal Nut M8 8 Pcs
4 Wrench 13 mm 1 Pc
Hardware List 5 Bolt M6 x 30 mm 16 Pcs
6 Flat Washer @18 /06 x | mm 16 Pcs
7 Allen Key 4 x 70 mm 1 Pc
8 Screw @8 x 19 mm 32 Pcs
9 ) :@g} Phillip Headscrew Driver ( not included )

Page 1 of 3




bly leg storag
e

A

N
4L

Y i\ X,
</ VY ,.\a““ .ﬂ‘ﬂ.‘\.&
\P//o‘\@/ﬂ%\»/m«w///lz

YAY/S




ASSEMBLY COMPLETED
QN/EK CAPTAIN STRG W/ 6 DRAWERS

ASSEMBLY COMPLETED
QN/EK CAPTAIN STRG W/ 3 DRAWERS

Page 3 of 3





